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—HUZAH 140,000 x2% » 128 3,360
—xNesy 100, 00024 x22* 122 2,400
—E 140,000 x1H* 123 1,680
—HEF O 2,830,000 *2H 5,760
—AXt= 100,000& 2% 13 2,600
—AZ2He|=E
18, 7102 x2 10AI 2Hx 12 4,491
— el 50,0003 =2« 12& 1,200
N4 HASREIS 15,600 5,400 10,200
= 200
= 15,400
M R (RIAHN) 22X B82S 15,600 1,200 14,400
O4UEEZ J|A2E2
450,000& x2ZF +12& 10,800
s 200
= 10,600
O&&=3 2,400,000 *2H 4,800
HY2AAH(SSHS2Z) 27,069 28,050 A981
JlE23a| 27,069 28,050 A981
J|1E23&H| 27,069 28,050 A981
201 Let23| 17,127 17,526 A39
01 ArR22ltl 17,127 17,526 A39
OAIRA jEFsZE 600,000 *43] *90% 2,160
OAIR4 X2 =3
250,000 *43] *90% 900
O=AD gtz 770,000 x 122 *90% 8,316
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EA: 2322
Mz HNRHAH|(SsS2Z1)
oel: D23l (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OAN=a =AEX 72
25,300& 158+ A« 128 *90% 4,099
O&=J| gz 59,900 10122 719
O3JI188I| 2= 77,7108 x12& 933
202 044| 4,704 4,704
01 2L | 4,704 4,704
SN2 2H0iH
20,0003 #28H *12& *70% 4,704
203 PR =XIH| 5,238 5,820 YaNGY oY
M4 ENSELRFEYI 5,238 5,820 N582
ORANSIHIE 2|
485,000 * 122 *90% 5,238
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